. Fracﬁioné.
A. éimp\'\%{ a\\ 5ums anA ’Diﬁerenceé.

3. Find the Permeter éimp\fg'y.
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1. _In'\"eg%rﬁ .

A. Write the additen pro\olem represenjfeol
by the pictore. 3dolve.
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RS S+ (-2)=
— 1+ (- )= -9+ 15=_
4 (-5)=___ 12+ (14)=
C. Subtract... NOT \
Ex‘am?\ei -} (W)= —% + _li:: — 4
R
lheep Change Cwanae
10-—(*"5):: = -
—~1 -2 = _
5 —- 3 = _
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T. Use the Lne Pld +  Answer

Nu\m\)Qr o“; BIUQ M¥Ms n 3 b’élj

K
X
X X X%
X x X X KX < X

i | | 1 i ] ] N
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3 46 24 32 4o 49 56 649

HOUJ m’al\)l baﬂS \"\B(J QJO of” 'FE’,UJQI" b]UQ mc}ms?.

How mMmany }JGSS h‘ac) mere than Z{E? blve
M+Ms 7

= 1 the  Landmars (except e the Mean.)
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V. Mulkiplying and  Divicing TnJrejer&
Remember  Yoor /\21,0\85\
Positive  Fimes Tosidive = TPosihve () -:(ﬂ: ()
Neﬂ'ajﬁve Fmes Nﬁajffve: Bstve ()= ( +)
DI
’\%siJrIvg Himes Nej‘a"HVe: Nejafve ( Jr):'—( ) = (-—)
Negative times Positive= Nemative (=)#(+)=()

-3-(-3)=___ 18 = (-6)=
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T 6T -

=34 —
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Y. Peccents.
A. /\J\QNFH'Q, Q,'ach '?(ac‘\';on

35 3 Yerceﬂ_\'.

\ \ 3
7= Y = 1=
i 2 2
¢ = % = 9 =
7 _ A L
2 5 = ik
| z H
3= 27 5"
1 5 32
6 - 6 S
5 39 7
9 50 \




B. [1enn®0.

507 oF 49= 6632 .F 34-
257 f 8- 33357 f 34=

L

\;z;a-,?mi____ 1657 .7 3¢ -

—

You Spend ﬂ; 8? 5[2’ 1['2)( J{nner (Por Vou and @
“:r{endl). \/ou clecic[eJ To leave d ;2/0? ‘!"fp. Hc‘u)
much  would You  leave m all ¢ To maKe things

e'as{ef yod rounalecl ﬁg?SQ To ‘qu neares'f ,0

On Tu\y )%th H: Snowecj 28 }nc)LQS “ano) on

Tu\y \Cﬁ'_‘ﬂ H’ SnowQJ 7 arnckCS. (Thf; s in ‘qu,
Andes in  Chilie W), What was +he percent

ot c\n’anﬂe,?






: Exponen%{a\ Notation.
e 10 3'-
9’ 6~ 12 =
2~ o
10°= 37 4+
X= B\ x = b 1=
e CT C= dl: 17‘7:
= Y x = vi= 28T =
196 = V100 =




TX . Math Voc'a\ou\ay. F- 1 ¥

wer<e exy

Y EENE sec%of‘

A, Fill-n the blanks.

-

The o‘? % are j.) 2},1‘} arwlg.
12 is the A4 20 and 8.
WM 1s the ~ 15 and 1.
The ___ £ Tare T14.21,28...
The cﬂC 12 ancJ s 6

19 is Yhe +4 2 ’ano) 9




V4 0
A
B. Rnswer. @@3 ©

W\WB‘\ \S J\’\\?- o\iﬁerence o'F seven 56},1’8@30[ ‘anOI
three cube,o\?

What s the q&o_{en‘} S 12 AGLU;MQOl ‘anol
2 cobed ¢

bt s 15 more Yhan he quetient of
4% and 6 7

What s A4 fower than the ProaPuEf'
s 10 and 137




C. \_ogica\ ﬂeasonirg. gg

29 16 8 |7 S
Adam /
Diane | /
‘]Bna+han /
Danielle /
3Irfnnd ‘ e
K j

The Ir‘ﬁ whose names beain w.er
@hﬂ 0 the same Ticst letter Favorite
numbers

are Prlme nuombers.

@@32 The bo 5 ‘?a\f@:‘ﬂ;{'@.ﬂumbeﬁ - are

561_uare numbers.

@@3 8 _ The studeits with the same number i

\eJ&ers In ‘(Zlnelf names 7Cavor:+e,
numbers are even numbers.

'D, Answer.
\/\”\\C\\ number ;5 Hne Proarvc"i' o'F 8 ancj

Ur) +r\"7[eJ ?




X. 5o\Ve -anCl Chec\é.

Aerna?  3x-18=9
r 1% +\9

Ix= Al
= =
x= 9
2(a)1-1%=9 ]
27-18-9 W
Gy — 36= 42 Chech

Ly + 2= 36 Cheek



Ix = 35 = 2|

10X + A = [H
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XL. fanh Abort T+ and Answer
The area of the rectanale s Lllgcmz. The

DQV{W\’&Q" ;5 33 em. How \ong 1S eack sfo\e,?
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